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Introduction
In this contribution, we propose to reflect latency requirement in the definition of PRR in TR 36.885.
Discussion and proposal
The latency requirement of V2V message, which is 100ms [1], is not reflected in current definition of PRR, see below [2]:
For one Tx packet, the PRR is calculated by X/Y, where Y is the number of UE/vehicles that located in the range (a, b) from the TX, and X is the number of UE/vehicles with successful reception among Y.

We propose to clarify that,  only when packet is successful received within latency of 100ms, it could be deemed as success, otherwise it should be deemed failed. For example, even it is successful received after 120ms, it should still be deemed  failed.

Proposal : reflect latency requirement to the definition of PRR in TR 36.885.

Text proposal
------------------------------------------------<TEXT START>-----------------------------------------------------
A.1.6 Performance metric
For evaluation of proposed schemes for V2V, the following metric(s) shall be considered.
· Packet Reception Ratio (PRR) :
· For one Tx packet, the PRR is calculated by X/Y, where Y is the number of UE/vehicles that located in the range (a, b) from the TX, and X is the number of UE/vehicles with successful reception among Y within latency requirement of 100ms. CDF of PRR and the following average PRR are used in evaluation
· CDF of PRR with a = 0, b = baseline of 320 meters for freeway and 150 meters for urban
· Average PRR, calculated as (X1+X2+X3….+Xn)/(Y1+Y2+Y3…+Yn) where n denotes the number of generated messages in simulation. with a = i*20 meters, b = (i+1)*20 meters for i=0, 1, …, 25

· FFS Packet Inter-Reception (PIR): time elapsed between two successive successful receptions of two different packets transmitted from node A to node B

Companies should explain the amount of time and frequency resources used for simulation.
--------------------------------------------------<TEXT END>------------------------------------------------------
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